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Il Semester B.Com. Examination, March 2023
(CBCS) (Repeaters) (2015 — 16 and Onwards)
COMMERCE
Paper — 3.4 : Financial Management

Time : 3 Hours Max. Marks : 70
Instruction : Answer should be written completely either in Kannada or in English.

SECTION - A/&en - 9
1. Answer any five sub-questions. Each sub-question carries two marks.  (5x2=10)

CIRTFTRTETUR § WVT-T,ZNER LU0, F,8 LUT-TZ 1 2 S0

a) Give the meaning of finance.
DLOTRD esc;s’rs.ﬁ:g{ 3RR.

b) What is profit maximization ?
CRYIR0T TOXEFTER QOTTER ?

c) Expand NPV, IRR.
NPV, IRR) 2504,

d) What is financial leverage ?
TEITIAT A, DOTTEID ?

e) What do you mean by dividend ?
SLTOOB OTITEID ?

f) Give the meaning of capital structure.
WOTTIY TWICD STFITY E9R.

g) What is operating leverage ?
TOORF QVF B A, D0WTETD ?

#

SECTION - B/&y»en -0
Answer any three questions. Each question carries six marks. (3x6=18)
CIRYTIWTR 3 T[,INON LZ0A. T3 T, I 6 S0TND.
2. Briefly explain any 6 factors influenéing capital structure decision.
WOTE TWNOD Roee T, TRROT C3RPTTTR 6 @osﬁ@@L :a‘oigmﬁ DWOR.
3. Briefly explain the functions of financial management.
TEITAT VW BHBOD @Qbrﬁ%fﬁ.gt :;‘oégmﬁ DO
P.T.O.
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4. Calculate the future value at the end of the five years of the following series
of payments at 10% rate of interest.
% 4,000 at the end of 1%t year
¥ 5,000 at the end of 2™ year
% 6,000 at the end of 3 year
% 7,000 at the end of 4" year
¥ 8,000 at the end of 5" year

33 NS WoWI0DTY, B8 TR T BRI, Fesms 10 o3 W& TomeATT 5 THRFNT
TURWRCONG, BTT YIK, TP, [T, Fom&BOWD.

B. 4,000 FRBO IRFT FRFCHE.

dR. 5,000 QTBSCH SRFT 08, T,

gn. 6,000 ZRTScD IRF Slecha]

3. 7,000 SRESD IR €503,530),

Un. 8,000 2TFCH JIRFT ©03,TY,

5. From the following information, calculate financial leverage, operating leverage
and combined leverage.

Sales — 10000 units, X 25 per unit as the selling price,

variable cost — X 5 per unit

Fixed cost — ¥ 30,000 and interest cost — X 15,000

TN W0280S00TY, BTOR, BEFTIRT a3, T2ODF BF TBo X3, BOB2 w0k A C,
eﬁﬁ&mﬁa.

R0e098 — 10000 pe337eh, I 25 T, 3BT Ton =0k WS

WTERNORD ﬁzgd -¥5%8 $~‘&3§"5ﬁ

A0 =, — T, 30,000 == WE =g~ Te. 15,000.

6. The initial investment of a project is ¥ 2,50,000 and it generates net cash flow

¥ 90,000, ¥ 80,000, ¥ 70,000 and % 50,000 respectively for four years.
Rate of discount is 10%. Calculate profitability index.

Year - 1 2 3 4

PV@10% : 0.909 0.826 0.751 0.683

WOt deemIod T,Tows BeAE 3e. 2,50,000 PR BWT IN wITOR)
LITOT,WoN T, mRENN oR. 90,000, Te. 80,000, Tr. 70,000 oY

gr. 50,000,
003R00é BT 363 10. 9T 03 mwéoﬁmg’% t?ﬁgmﬁf).
Year - 1 2 3 4

PV @ 10% : 0.909 0.826 0.751 0.683
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SECTION - C/Qyen — &
Answer any three questions. Each question carries fourteen marks. (3x14=42)
CIRRYTTAR 3 TINOr Lwgoa. X,3 T3 14 o3nsd.
7. Explain the factors influencing dividend policy.
TIR0TT LeS0 Toed B gIdR0E BOTNTRY, Ve0A.
8. Explain the need and importance of adequate working capital.
ARTFE TOROINT LOBYS T3 Torne 7o, 0D, ZDI) VTOR.

9. A company Ltd. has a capital of ¥ 1,00,000 divided into shares of ¥ 10 each
(equity) it has major expansion programme requiring an investment of another
¥50,000. The management is considering the following alternatives for raising
the amount.

a) Issue of 5000 shares of ¥ 10 each (equity)

b) Issue of 5000 12% preference shares of T 10 each.

c) Issue of 10% debentures of ¥ 50,000.
The Company’s present Earnings Before Interest and Tax (EBIT) is ¥ 30,000 p.a.
Calculate EPS in each of plans and suggest a suitable plan.
=2 Q0000 FOTIOD FTNT, e wom=Y Un. 10 e Te. 1,00,000 HsoNTH3ss.
TOTACID Y VT odwewsSmon de. 50,000 nes) T[T Zor, e fazijmgzﬁ.
FOTIOD AT BTB WOOWPOR R0T B3 FENT T odbnsh o,
a) Tr. 10 [0DWScd 5000 TORRT, O Toeds.
b) de. 100 &0adedeicd 5000 12% 0,3 Fe0F Tows.
¢) 10% TpoE3T =T dr. 50,000 idod Toss.
gozod EBIT ow. 30,000 p.a. BN ATT &8 jeo= nvd (EPS) Svev) eﬁﬁm&
BOBY B3 FTOTAM WOTH YVSRD TWOIRF O AR '

10. Determine the Earnings Per Share of a company which has a operating profit

of ¥ 4,80,000. Its capital structure consists of following securities.

4
10% Debentures 15,00,000
12% Preference shares . 3,00,000
Equity shares of ¥ 100 each 12,00,000
The company is in the tax bracket of 55%.
Calculate : /

a) EPS (Earnings Per Share)
b) Calculate the change in EPS if operating profit increases by 30%
c) Calculate the change in EPS if operating profit decreases by 30%

%O FOTACL FoODF AR TP ©o73 (operating profit) (EBIT) 4,80,000 Sr. A

Q

BOTROW WOREY TuE &3 TYNTOZ A5 Q, 81T T& HedT nvd (EPS) cbomy S8z0s.

10% moTe, te. 15,00,000
12% ©53,303 Redd ore. 3,00,000
TR. 100T R20:0eiS0dd T, Hedd or. 12,00,000

30IQ 38R 55 3on a:)asejﬁ zu%?au‘ao;d
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c;?ﬁcm& :

a) EPS (&,8 3c08 nod)

b) ek EBIT egkm s ssrmum oot 3683 30 00803Rn) $To EPS & 3280.

C) FoTROD EBIT e@em solrimrame ooyl 3e8@ 30 a9dodntd «wa EPS
eiﬁam%@.

The information of XYZ Ltd. is given below :

Initial investment — ¥ 2,00,000

Salvage value is — 10%

Project economic life — 5 years

The expected Profit Before Depreciation and Tax is given below (PBDT)
Year PBDT

1 40,000
2 50,000
3 60,000
4 70,000
5 80,000
P.V. factor @ 10% discount rate is
Year 2 1 2 3 4 5
P.V. factor @ 10% : 0.909 0.826 0.751 0.683 0.621
Calculate :
1) ARR 2) NPV

XYZ Q030008 30TI0H RIeded B3 FPTOBROS QTS -

32,0058 BR&S — 8. 2,00,000 3

U8 WP, (salvage value) — 10%

CAREBTOL BHFT Wewmonh — 5 wRF

ARBY T2 SONCD Woowds nvd (PBDT) 83 3950E0E wTh3d.

SR PBDT

1 " 40,000

2 ' 50,000

3 60,000

4 70,000

5 80,000
P.V. factor 3¢3@ 10 oxb, 0cdnodde &
IR - 1 2 3 < 5
P.V.factor @ 10% :  0.909 0.826 0.751 0.683  0.621
B mos.

1) ARR 2) NPV




